fB=Mm
1. TN f (x) =/3sin2x + 2c0s?x —1.
()R %% f(x) a@%%uzrmmogua@@az;

Q)% 0 K8 H f(0) = —g , 3k cos26 .

2. fEBLMA AABC H1, ff1 4, B, CIXTIU 58 a, b, ¢, H(a—c)(sin A+sinC) = (a—b)sinB.
(1)3k C;
Q)% b=2, KAABC I B HBUETE .
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3. BB 5 ABC I A, B, C TR A4 BN a,b,c, SLHHLAS , HL fs Jbreca
a+b+C

(DRH A ;
QS :ﬁ, R & B .

4. AABC 1, i A, B, CHIXTA A MM a, by e, Bo1c=2, (b+c)(sinC—sinB)=a(sin A-sinB),

(D3RS C HIH;
(2)3k a+2b 5 K AR

()45 AB B 2k CD K Jy 3, sk AABC THIFH.
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S {EBAE= T ABC i, ida, b BN A B CHINHL, asinezfc.
.1 1

(l)jﬁﬁi—%%{ﬁ

(2)=k A C M E KAE.

6. CHIAABC H1, A+B=5C,2sin(A-C)=sinB.

(1)K sinA ;

Q¥ AC =12, miM EZ&BIAC LFEL M CHI=5570 /i, KBM KK,
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7. MBC%W%A&C%N@%%%&QC,Eﬂ%zﬂ%ﬂh@—q.

(D3RS B IR
Q)b =2, Kc+2aFERIEK ¢ ++/2a BAFHEAALN AABC I

8. (£AABCH, PifiA, B, CHHILAIE, b, C, HeinC+yacosC—Y3SNA,
sinB

b=3.

(1)kfB;

Q)#ia+c=2, Rl AC EMIfA T4 BD K,
(3)# AABC MM =T, Rilt AC L2k BE [ HUEE .
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